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T rnaiLzse+u4 / 20
4000 [ pO 42212 0.0
pl -34.59 + 0.00
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4000
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1000

4000
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1000

TVC(cbch) (0,7,1)

%~ 1 Jaae+ud 1 20
F. po 4211+ 0.0
‘I p1 -37.78 % 0.00

TP delay

TVC(c,b ch) (O 7,5

[ns]

- nui 3/ e+04 / 20
4224+ 0.0
pl -36.16 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (0 7,9

- pO

[ns]

. HULs4J_Le+U4IZO
4242+ 0.0
pl -36.77  0.00

1
50 100

TP delay

TVC(c,b Ch) (0, 7 13

[ns]

~ 1 naiusze+ud / 20
4238+ 0.0
-36.59 + 0.00

TP delay

PR SRS S
50 100

[ns]

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (0,7,2)

po

pl

AT 1nui1rse+u4 /20
4234+ 0.0
-38.06 + 0.00

TP delay

TVC(cbch) (0,7,6

[ns]

-1 311e+04 / 20
4224+ 0.0
-35.4+ 0.0

TP delay

TVC(cbch) (0, 7 10

- "0

[ns]

©1nuiz.43ze+04 | 20
4257+ 0.0
pl -36.24 + 0.00

TP delay

TVC(cbch) (0,7,14

F p‘)

[ns]

Trnw 1 nie+u4/ 20
4238+ 0.0
pl -35.84 + 0.00

TP delay

PR SR T
50 100

[ns]
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TVC(cbch) (0,7,3)

o, pO

T 1 zoe+ud [ 20
4231+ 0.0
pl -37.12+ 0.00

TP delay

TVC(c,b ch) (0 7,7

= pO

[ns]

-1 nun 338e+04 / 20
4219+ 0.0
pl -34.79 + 0.00

TP delay

TVC(c,b ch) (0, 7

e pO

[ns]

T 9//e+u4/20
4259+ 0.0
pl -37.07 + 0.00

1
50 100

TP delay

TVC(c,b ch) (0, 7 15

[ns]

T 1naizyse+ud [ 20
4250+ 0.0
-36.22+ 0.00

TP delay

P B S S
50 100

[ns]
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TVC(cbch) (0,8,0)

X~ 1 Juve+u4 [ 20
4214+ 0.0
-36.21+ 0.00

1
50 100

0

TP delay [ns]
TVC(cbch) (O 8,4)
~ 1 nuiL144e+04 / 20
= po 4217+ 0.0
pl -35.06 + 0.00
1 1
50 100
TP delay [ns]
TVC(cbch) (O 8,8)
- 1 nuiLBuYe+ud / 20
= pO 4238+ 0.0
pl -36.53+ 0.00
1 1
50 100
TP delay [ns]
TVC(c,b ch) (0o, 8 12

T 1 ae+u4 /20
po 4255+ 0.0
pl -37.18+ 0.00
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50 100
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TVC(cbch) (0,81

AT 1 nuiL1use+u4 / 20
= po 4199+ 0.0
p1 -35.05 + 0.00

TP delay [ns]

TVC(c,b ch) (O 8,5

=1 i Ub3e+u4 / 20
4211+ 0.0
-34.47 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

~ 1 nug. rgze+u4 [ 20
pO 4254+ 0.0
p1 -36.01+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (0, 8 13

T inais41e+u4 /20
pO 4266+ 0.0
pl -37.16 + 0.00
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50 100

TP delay [ns]
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2000

TVC(cbch) (0.8,2)

- C =27.93 [ps/ch

TP delay [ns]

TVC(cbch) (0,86

1000

i, 345e+04 / 20
- pO 4234+ 0.0
- pl -35.77 + 0.00

T Luse+ud /20
pO 4212+ 0.0
p1 358+ 0.0

TP delay [ns]

TVC(eb,oh)=(0, 8, 10

= 1 53ze+04 [ 20
= pO 4281+ 0.0
[ p1 -37.11+ 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

T g3re+u4 /20
- pD 4264+ 0.0
L pl -37.55+ 0.00
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A1 nuiL1z1e+ud [ 20
po 4230+ 0.0
pL -36.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

= i 3gge+ud / 20
po 4239+ 0.0
p1 -35.62+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T a51e+u4/20
4274+ 0.0
-36.85+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 8 15

- i szoe+ud [ 20
4256+ 0.0
-36.57 + 0.00

M B SR B
50 100

TP delay [ns]
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TVC(c,b,ch)=(0, 9,0)

T LAl Y017 /20
e, PO 4183 0.0
pl -35.68 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (0,9,4

= i 19se+u4 / 20

) _‘
-35.51+ 0.00

4181+ 0.0
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TP delay [ns]

TVC(cbch) (O 9,8

1 4zae+04 | 20

i : )»—“

4216+ 0.0

1
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TP delay [ns]
TVC(cbch) (0,9,12)
~ i 1sse+u4 / 20
4000 [ pO 42212 0.0
pl -35.39 + 0.00
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TVC(cbch) (0,9,1

AT 1 nuiLLrse+u4 [ 20
PO 4179 0.0
p1 -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (O 9,5

“nun1.z8e+04 [ 20
4199+ 0.0
-35.39 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

- 353e+u4 / 20
4211+ 0.0
-35.33+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,9,13

~ 1 nai zoze+ud [ 20
4197+ 0.0
-34.51+ 0.00
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TP delay [ns]
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1000

TVC(cbch) (0,9,2)

TP delay [ns]

TVC(cbch) (0,9,6

X~ 1w 1s0e+U4 / 20
F po 4199 0.0
I pl -36.32+ 0.00

3000

- 1z8e+04 | 20
- pO 4199+ 0.0
r pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

1000

0

1 nuiLgUse+U4 / 20
- DO 4248+ 0.0
r pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14
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- DD

T B8U2 /20
4208+ 0.0
pl -34.21+ 0.00
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TVC(cbch) (0,9,3

AT 1nuiLzize+u4 [ 20
PO 4201+ 0.0
p1 -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

-1 nui 3Ye+u4 / 20
= PO 4216+ 0.0
pL -36.75+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

SERLL® zbue+u4/20
- pO 4246+ 0.0
pl -36.72+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,9,15

T nai1sze+u4 / 20
4224+ 0.0
-34.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 10, 0)

T
. po
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TVC(cbch) (0,104

- nui135e+04 / 20
™, pO 4225+ 0.0
p1 -36.64 + 0.00
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TP delay [ns]

TVC(cbch) (0, 10 8

T 1ave+u4 /20
- pO 4214+ 0.0
pl -35.33+ 0.00

1
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TP delay [ns]

TVC(cbch) (0,10, 12

© i syse+ud / 20
= po 4260+ 0.0
pl -36.72+ 0.00
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TVC(c, bch) (0,10,5

=1 nui 199e+04 / 20
- pO 4233+ 0.0
-37.35+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

-1 nuiz 1bze+ud / 20
= po 4232+ 0.0
pl -36.61+ 0.00
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50 100

TP delay [ns]

TVC(cbch) (010,13

~inaizyle+ud / 20
- pO 4253+ 0.0
-36.12+ 0.00
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_— po 4214+ 0.0
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TP delay [ns]

TVC(cbch) (0.10,6

1000

- 1 nurLuyge+ud / 20
- pO 4235+ 0.0
[ pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (0, 10 10

T rze+u4 /20
=, po 4253+ 0.0
L pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (0.10,14
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T go1e+u4 / 20
- pD 4262+ 0.0
L pl -36.98 + 0.00
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TVC(c, bch) (0,10,7

-1 nui uBae+u4 / 20
- pO 4257+ 0.0
pL -37.27+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 10 1

T nuiazie+u4 /20
4249+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (0,10,15

T naizsse+ud [ 20
- pO 4256+ 0.0
p1 -37.23+ 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (0,11,0) TVC(cbch) (0,11,1) TVC(cbch) (0,11,2) TVC(cbch) (0,11, 3)

4000 X~ 1 158e+04 / 20 4000 ~ L 1ane+ud [ 20 2000 T rnuiLzige+u4 / 20 4000 AT rnuiizie+ud /20
= PO 4158+ 0.0 = PO 4160+ 0.0 F pO 4174+ 0.0 po 4184+ 0.0
pl -34.7+ 0.0 pl -35.26 + 0.00 r pl -35.16 + 0.00 pl -35.08 + 0.00

-1 3000

3000 = 3000 = 3000 N

2000 -1 2000 =1 2000 =1 2000

1000 1 1000 -1 1000 -1 1000
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50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0,11,4 TVC(cbch) (0,11,5 TVC(cbch) (0,11,6 TVC(cbch) (0,11,7

ul )34/1/20 ur )EHUG/ZO “ g Ua)ue+U4/20 ar )Elybl/ZO

4000 e pO 4164+ 0.0 R, 4190+ 0.0 4000 e, pO 4212+ 0.0 4000 o, pO 4196+ 0.0

Pl -34.13% 0.00 -34.93% 0.00 F PL_ -36.03% 0.00 Pl -34.27% 0.00
3000 1 3000 -1 3000 -— —- 3000 -
2000 4 2000 - 2000 3 2000 4
wool- C = 29.30 [ps/ch ] 1000 ] woo- C = 27.76 [ps/ch 7] oo C =29.18 [ps/ch] ]

0 EY 00 0 5 T 0 EY 0 0 5 T

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.eh)=(0, 11,8 TVC(eh.eh)=(0, 11, 9 TVC(e.b,ch)=(0, 11, 10 TVC(e.b.eh=(0, 11, 11

4000 © L uzse+u4 / 20 4000 T nuignz/e+ud [ 20 4000 E X1 nuiL zgYe+u4 / 20 4000 -1 naiL zyze+u4 [ 20
= PD 4187+ 0.0 - DO 4209+ 0.0 = po 4197+ 0.0 4214+ 0.0
pl -34.77 + 0.00 pl -34.75 + 0.00 I pl -34.35+ 0.00 -35.3+ 0.0

- 3000

3000 -1 3000 1 3000 .

2000 -1 2000 - 2000 - 2000

1000 -1 1000

-1 1000 - 1000

| 1 1 1 [ | 1 ] 1
% 50 00 0 50 100 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (0,11,12) TVC(c,b ch) (0,11,13) TVC(c,b ch) (0,11, 14) TVC(c,b ch) (0,11,15)
X~ 1 zo/e+04 /20 - g 1a8e+04 / 20 X~ 1 158e+04 / 20 - 1L uybe+u4 / 20
000 b, po 4212+ 0.0 4000 b, pO 4205+ 0.0 4000, PO 4217+ 0.0 4000 fo pO 4211+ 0.0
pl -35.75+ 0.00 pl -35.56 + 0.00 : pl -36.14 + 0.00 -34.89 + 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR RS SR B PR BRSNS | PR SR T
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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P pO 4208+ 0.0
p1 -35.45 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 12, 4

b, .12, 4)
: X-rnu ges8/20
= pO 4217+ 0.0
pl -37.85+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

i 1oze+04 / 20
- pO 4204+ 0.0
pl -36.77 + 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (0,12,12

T aee+ud /20
= po 4220+ 0.0
-35.71+ 0.00

PR RS SR B
50 100

TP delay [ns]

TVC(cbch) (0,12,1)
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1000

AT rnuiLszie+ud [ 20
4000 Fee,, po 4217+ 0.0
pl -37.73+ 0.00

TP delay [ns]

TVC(cbch) (0,125

4000 (S

3000

2000

1000

=1 1L uu4e+u4 / 20
pO 4208+ 0.0
pL -37.29+ 0.00

TP delay [ns]
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3000
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1000
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po 4223+ 0.0
pl -36.73 + 0.00

1
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TP delay [ns]
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pO 4222+ 0.0
-36.21+ 0.00
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TVC(CbCh) (0,12,2)

A7 1 nuiasse+ud /20
_- po 4214+ 0.0
L pl -36.49 + 0.00
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TP delay [ns]

TVC(cbch) (0.12,6

- i 1.08e+u4 /20
o pO 4213+ 0.0
[ pl 37+ 0.0

TP delay [ns]

TVC(cbch) (0, 12 10

©1nuiLp34e+u4 / 20
. po 4237+ 0.0
L p1 -36.48 + 0.00

TP delay [ns]

TVC(cbch) (0.12,14

~1nuiLz44e+04 / 20
- pD 4228+ 0.0
L p1 -35.82+ 0.00

PR SR T
50 100
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TVC(cbch) (0,12,3)

AT rnuiLzioe+ud [ 20
po 4237+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

-1 nui b /e+u4 / 20
- pO 4240+ 0.0
pL -37.28+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 12, 11

-1 nuiagie+u4 / 20
- pO 4249+ 0.0
p1 -36.72+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,12,15

T naisz/e+u4 /20
- po 4228+ 0.0
-36.32+ 0.00

P B S S
50 100

TP delay [ns]



TVC(c,b Ch) (o, 13 0) TVC(c,b Ch) (0,13,1) TVC(c,b Ch) (0,13,2) TVC(c,b Ch) (0,13,3)
-7 3e+04 20 X~ (e+Ud [ 20 X~ 1 L y2oe+04 /20 A 1 i sboe+ud /20
4000 PO 4216+ 0.0 4000 o, po 4214+ 0.0 4000 po 4220+ 0.0 4000 o, po 4239+ 0.0
Pl -36.03% 0.00 Pl -36.97+ 0.00 [ pl 35,61 0.00 pl_ -37.29% 0.00

-1 3000

3000 -1 3000 =1 3000 N

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0,134 TVC(c, bch) (0,135 TVC(cbch) (0.13,6 TVC(c, bch) (0,137

~ 1 nuiL481e+04 / 20 -1 zbbe+ud [ 20 -1 nuiL b4se+u4d [ 20 -1 nur Buze+ud / 20
4000 [, pO 4234+ 0.0 4000 e, pO 4238+ 0.0 4000 [, pO 4259+ 0.0 4000 [, pO 4251+ 0.0
Pl -37.09: 0.00 -37.13+ 0.00 [ pl -37.31% 0.00 Pl -36.63: 0.00
3000 E 3000 B 3000 E 3000 [ B
2000 g 2000 E 2000 E 2000 [ g
1000 C - 1000 - 1000 r C =26.80 [pS/Ch ] 1000 C -
1 1 1 1 1 1 1 1
0 EY 00 0 50 100 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0, 13 8 TVC(c, bch) (0, 13 TVC(cbch) (0, 13 10 TVC(c, bch) (o, 13 1

T, 42084-04 120 T, /2?5&+U4/20 TG u12e+04/20 ERALECK su/)e+u4/20
4000 frms, pO 4261+ 0.0 4000 [, pO 428400 4000 [, DO 4303+ 0.0 4000 fom, p0 4302+ 0.0
3451+ 0.00 Pl 3453000 [ pl 348+ 0.0 -35.8 ¢ 0.0
3000 - 3000 - 3000 . 3000 -
2000 - 2000 e 2000 . 2000 -
1000 - 1000 e wo C = 28.73 [ps/ch] - 1000 -
| 1 1 1 [ | 1 ] 1 1
% 50 00 0 50 100 % 50 00 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (0.13,12) TVC(c,b ch) (0.13,13) TVC(c,b ch) (0.13,14) TVC(c,b ch) (0,13,15)
Tz 1yre+u4 / 20 ~inuz1s/e+ud [ 20 1z zove+ud | 20 T nuz syse+ud [ 20
4000 pO 4250+ 0.0 4000 4251% 0.0 4000 o, PD 4250+ 0.0 4000 4268+ 0.0
pl -34.54 + 0.00 -35.86 + 0.00 : pl -35.16 + 0.00 -36.66 + 0.00

3000

. 3000 1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

PR BRSNS | PR SR T P B S S
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TP delay [ns]

TVC(c,b,ch)=(0, 14, 4

b, ,14,4)
. x- o 9626720
- po 4202+ 0.0
p1 -34.76+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

1 nuiL rb4e+u4 / 20

- po 4202+ 0.0
pl -35.49+ 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (0,14,12

1 nuiL1ore+u4 / 20

= po 4223+ 0.0
p1 -36.08 + 0.00

PR RS SR B
50 100

TP delay [ns]
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TVC(c, bch) (0,145

=1 Ui Ubbe+u4 / 20
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4207+ 0.0

50 1(;0
TP delay [ns]

TVC(ebeh)=(0, 14,9

==, po
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pl -36.15+ 0.00

4218+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0.14,13

i1 rve+ud [ 20

o, po 4226+ 0.0
pl -36.48 + 0.00

PR SRS S
50 100
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3000

2000

1000

TVC(cbch) (1,12,3)

S yusl/ 20
PO 4180+ 0.0
pl -34.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1,127

1 nar ):u53 /20
= pO 4198+ 0.0
pl -35.6+ 0.0

TVC(ebeh)=(1, 12, 11)

50 1(;0
TP delay [ns]

= pO

480 / 20
4216+ 0.0
-34.76 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

-1 nuiu4ye+ud / 20
4196+ 0.0
-35.28 + 0.00

TP delay [ns]



TVC(cbch) (1,13,0) TVC(cbch) (1,13,1) TVC(cbch) (1,13,2) TVC(cbch) (1,13,3)
T 1se+ud /20 AT 1 nun.ulye+ud [ 20 A~z e+04 /20 AT 1 .s30e+u4 [ 20
4000 Faaee PO 4205+ 0.0 4000 . po 4204+ 0.0 4000 _=— po 4204+ 0.0 4000 po 4227+ 0.0
pl -37.61+ 0.00 pl -37.02+ 0.00 : pl -36.89 + 0.00 pl -36.39+ 0.00

-1 3000

3000 -1 3000

-1 3000

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

1 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,13,4) TVC(cbch) (1,13,5) TVC(cbch) (1,13,6) TVC(cbch) (1,13,7)
= 1 i bue+u4 / 20 ~ 1 nun1.44e+04 /20 -1 nuiL bb4e+u4 / 20 - nui s4/e+04 / 20
4000, pO 4211+ 0.0 4000 pO 4225+ 0.0 4000 e, pO 4234+ 0.0 4000 f pO 4239+ 0.0
-35.3+ 0.0 pL -35.68 + 0.00 [ pl 36,29+ 0.00 pL -36.44 + 0.00
3000 4 3000 B 3000 — — 3000 1
2000 — 2000 - 2000 — — 2000 4
1000 - 1000 - 1000:— C=27.56 [pS/Ch — 1000 C -
0 EY 00 0 5 T 0 EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(C,b, ch) (1,13,8) TVC(c,b ch) (1,139) TVC(c,b ch) (1,13 10) TVC(c,b ch) (1,13, 11)
T nun1.4ve+u4 /20 - i bl4e+u4 / 20 1 nuiL p4be+u4 / 20 ~ i 482e+04 [ 20
4000 pO 4195+ 0.0 4000 4253+ 0.0 4000 pO 4265+ 0.0 4000 4259+ 0.0
pl -34.33 + 0.00 -34.8+ 0.0 [ pl -36.43 + 0.00 -36.+ 0.0

3000 -1 3000 - 3000 - 3000

2000 . 2000 - 2000 -1 2000

1000 -1 1000

-1 1000 -1 1000

0 1 1 0 1 1 0 1 1 0 _L

0 50 100 50 00 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,13,12) TVC(c,b ch) (1,13 13) TVC(c,b ch) (113 14) TVC(c,b ch) (1,13,15)
TonaLzie+u4 /20 T Zode+u4 [ 20 ~ i zoye+ud [ 20 - soge+u4 / 20
4000 fm, pO 4252+ 0.0 4000 [, pO 4254+ 0.0 4000 [, PD 4237+ 0.0 4000 [, pO 4257+ 0.0
pl -36.66 + 0.00 pl -36.98 + 0.00 r pl -36.22+ 0.00 pl -37.15+ 0.00

3000 -1 3000 -1 3000 - 3000 .

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000

-1 1000

PR RS SR B PR BRSNS | PR SR T
50 100 50 100 50 100

P B S S
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b,ch)=( 1, 14, 0) TVC(c,b,ch)=(1, 14, 1) TVC(c,b,ch)=( 1, 14, 2) TVC(c,b,ch)=( 1, 14, 3)
AT yoy5 /20 AT yoy0 /20 AT yuz6 / 20 A~ L ugre+ud [ 20
4000 e ' po 4201+ 0.0 4000 - ' po 4195+ 0.0 4000 __‘ ' po 4213+ 0.0 4000 - ' po 4231+ 0.0
pl -36.89+ 0.00 pl -36.25+ 0.00 : pl -36.82+ 0.00 pl -37.2+ 0.0

-1 3000

3000 - 3000 - 3000 4

2000 1 2000 -1 2000 -1 2000 1

1000 - 1000 =1 1000

. wol C = 26.88 [ps/c .

0 £ oo 0 50 0% 0 £ oo 0 ) 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 14, 4) TVC(c,b,ch)=(1, 14,5) TVC(c,b,ch)=( 1, 14, 6) TVC(c,b,ch)=( 1, 14,7)
— T PaEAL 9833 /20 1000 E T X~ 1 nurLugbe+u4 / 20 4000 E T X 9210/ 20 2000 E T X~ nuiLurge+u4 / 20
4000k, po 4178+ 0.0 e, po 4192+ 0.0 = po 4176+ 0.0 = po 4199+ 0.0
pl -35.96 + 0.00 pl -37.26+ 0.00 [ pl -36.63+ 0.00 pl -36.31+ 0.00
3000 [~ B 3000 B 3000 — ] 3000 [ B
2000 - — 2000 - 2000 — — 2000 [ —
1000 C = 1000 - 1000:— C=27.30 [pS/Ch — 1000 C =
0 EY 00 0 5 T of EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 14, 8) TVC(c,b,ch)=( 1, 14, 9) TVC(c,b,ch)=( 1, 14, 10) TVC(c,b,ch)=( 1, 14, 11)
— T X~ 1 nuiLblie+u4 / 20 - T X~ 1 huig.pobe+u4 / 20 — T X~ 1L br3e+04 /20 = T X~ nuiLzule+u4 / 20
4000 4174+ 0.0 000, po 4200+ 0.0 4000 po 4224+ 0.0 4000 p0 4214+ 0.0
-33.3+ 0.0 pl -35.17+ 0.00 I pl -34.93+ 0.00 pl -34.39+ 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000

-1 1000

I I [ I I
% 50 00 % 50 00

1 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 14, 12) TVC(c,b,ch)=( 1, 14, 13) TVC(c,b,ch)=( 1, 14, 14 ) TVC(c,b,ch)=( 1, 14, 15)
T X- 1y ze+U4 /20 T A~ zsye+ud | 20 T X~ 1L 150e+04 / 20 T A~ 1L ubse+ud | 20
4000 [, po 4261+ 0.0 4000 fFe, po 4254+ 0.0 4000 [, po 4261 0.0 4000 [ po 4256+ 0.0
pl 37+ 0.0 pl -37.49+ 0.00 L -37.1+ 0.0 pl -36.68+ 0.00

3000 . 3000 - 3000 -1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000

-1 1000

PR RS SR B PR SRS S PR SR T P B S S
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

~ 1 nuiLgo4e+04 / 20
- pO 4206+ 0.0
pl -38.06 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,154

-1, 338e+04 / 20
- pO 42254 0.0
pl -36.59+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

T rnuiL413e+04 / 20
- po 4226+ 0.0
-35.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,15,12

Ty sze+ud /20
= po 4233+ 0.0
pl -35.48+ 0.00

PR RS SR B
50 100

TP delay [ns]

TVC(cbch) (1,15,1)

3000

2000

1000

AT 1L szse+ud [ 20
4000 Fee,, po 4208+ 0.0
pl -37.38+ 0.00

TP delay [ns]

TVC(cbch) (1,155

3000

2000

1000

= 1 nui 34ze+04 | 20
4000 . po 4229+ 0.0
pl -36.33+ 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (1, 15 9

3000

2000

1000

T nuigzz/e+u4 [ 20
4000 em, pO 4259+ 0.0
pl -36.47 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (115,13

4000 &,

3000

2000

1000

T nai szye+ud [ 20
4230+ 0.0
-35.53+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (1,15,2)

A7 1 nui syze+u4 /20
_l' po 4229+ 0.0
L pl -38.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,156

-1 nurgzzoe+u4 [ 20
- pO 4230+ 0.0
[ pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

© 1L gzoe+u4 / 20
- DO 4273+ 0.0
- pl -37.26 + 0.00

TP delay [ns]

TVC(cbch) (115,14

1000

© i zzge+u4 | 20
__ pD 4237+ 0.0
L pl -34.86 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,15,3)

AT 1nuan L zse+ud [ 20
P, po 4218+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(c, bch) (1,157

- 1nun zz3e+04 / 20
- pO 4231% 0.0
354+ 0.0

TP delay [ns]

TVC(eheh)=(1, 15, 11

T nui s 3e+u4 /20
po 4291+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(cbch) (1,15,15

Tonaizye+u4 /20
4236+ 0.0
-35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (2,0,0)

F po

X~ 1 suse+U4 / 20
4206+ 0.0
p1 -37.67+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2 0,4)
~ 1 nu 8z1e+U5 / 20
Foase pO 4192+ 0.0
pl -34.78 + 0.00
- C -1
1 1
50 100
TP delay [ns]
TVC(cbch) (2,08)
-1 3z3e+05 / 20
== pD 4189+ 0.0
pl -35.14+ 0.00

1
0 50 00

TP delay [ns]
TVC(Cbch) (2, O 12)
- 1L s8ye+U6 / 20
4000 [ po 4209+ 0.0
pl -34.58 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,0,1)

P po

p1

x- 1 i Soae+ud | 20
4221+ 0.0
-37.52:+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2 0,5

F pO

- 11U byle+us / 20
4197+ 0.0
-34.58 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2 0,9

T nug1u/e+ud / 20
4200+ 0.0
-35.93 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (2, O 13

pO
p1

1 nuiz.usve+us / 20
4221+ 0.0
-35.7+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

po

pl

A~ 1 nui suse+u4 / 20
4214+ 0.0
-36.58+ 0.00

TP delay [ns]
TVC(cbch) (2 0,6)
“nuy 5 5e+U5 / 20
== po 4211+ 0.0
-35.34:_0.00

p1

TP delay

TVC(eb,oh)=(2, 0, 10

1000

0

= DO

[ns]

1 nuiLg44e+05 / 20
4226+ 0.0
pl -36.38 + 0.00

TP delay

TVC(cbch) (2,0,14

[ns]

~ 1L, 4pe+05 / 20
4218+ 0.0
pl -35.13+ 0.00

TP delay

P R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3)

e, po

A1 L Sa0e+U4 | 20
4208+ 0.0
-36.34 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 0,7

o pO

pl

-1 nug.Yyle+us / 20
4214+ 0.0
-34.77 + 0.00

TP delay [ns]

TVC(c,b ch) (2, O

EEALEVX utme+u6/20
4233+ 0.0
-36.05+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, O 15

T nuis.p/4e+U7 / 20
4218+ 0.0
-35.23+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,1,0)

— A /-uumewsuo
e po 4218 0.0
p1 -40.18+ 0.00

TP delay [ns]

TVC(cbch) (21,4

S rnuzz(re+04 / 20
4179+ 0.0
-35.41+ 0.00

50 10'0
TP delay [ns]

TVC(ebeh)=(2, 1,8

- 1 nuip pUse+U4 | 20
k. po 4215+ 0.0
p1 -36.86+ 0.00

1
0 50 00

TP delay [ns]

TVC(cbch) (21,12

T LY e+U6 / 20
= po 4208+ 0.0
pl -35.18+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

A™ 1z L1re+u6 [ 20
F... po 4213+ 0.0
p1 -38.97 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

“nuule+ud /20
4194+ 0.0
-35.76 + 0.00

50 150
TP delay [ns]

TVCebeh)=(2, 1,9

T inuiz.z1/e+u6 / 20
- po 4239+ 0.0
-36.98 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (2, l 13

~ 1 nuw, ro0e+ud / 20
4226+ 0.0
-36.54 + 0.00

P R T
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,1,2)

A~ 1 nun 549e+04 20
Fe po 4221 0.0
[ pl -37.94 £ 0.00

TP delay [ns]

TVC(cbch) (21,6

T 1nu.4/4e+04 | 20
F... pO 4198+ 0.0
- pl -35.86 + 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

~1nu.4/0e+U5 / 20
- pO 4245+ 0.0
- pl -36.02 + 0.00

TP delay [ns]

TVC(cbch) (21,14

- 1 iz z55e+u4 [ 20
I 4221% 0.0
[ -36.31+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

A7 1 hug.BUSe+UB / 20
F.. po 4223+ 0.0
p1 -37.68+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

= 1 nuw 133e+U5 / 20
Focee po 4200+ 0.0
p1 -35.88 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (21,

T db/e+U6/ZU
- pO 4245+ 0.0
pl -36.52 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 1 15

- 1 iz s34e+U5 | 20
e po 4203+ 0.0
p1 -35.93+ 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,2,0)

T gzze+u6/ 20
4179+ 0.0
p1 -35.26 + 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2 2,4)
= 11U 0Ube+U6 / 20
. pO 4195+ 0.0
pl -37.24+ 0.00
[ C =26.86 [ps/c ]
1 1
50 100
TP delay [ns]
TVC(cbch) (2 2,8)
- 1 nuz.494e+05 / 20
== pD 4188+ 0.0
pl -35.23+ 0.00

1
50 00

TP delay [ns]
TVC(c,b ch) (2, 2 12)
-1 nu paze+U5 / 20
= po 4235+ 0.0
pl -37.07 + 0.00

L n n n n 1 n
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

e po

A~ 1 nuz,usse+Us / 20
4189+ 0.0
p1 -36.34 + 0.00

TP delay

TVC(c,b ch) (2 2,5

[ns]

=1 nug by3e+us / 20
4185+ 0.0
-36.33+ 0.00

50 150
TP delay

TVC(ebeh)=(2,2,9

pO

[ns]

<1 nu.p30e+U5 / 20
4236+ 0.0
p1 -35.64 £ 0.00

1
50 00

TP delay

TVC(c,b Ch) (2, 2 13

[ns]

1 nug gooe+U5 / 20
4224+ 0.0
-36.38 + 0.00

P R T
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,2,2)

= PO

X~ 11, Love+U5 / 20
4195+ 0.0
p1 -36.86 + 0.00

pO

TP delay [ns]
TVC(cbch)(226) -
“ 1 nub 479e+04 [ 20
= 4197+ 0.0
-37.08 + 0.00

p1

TP delay

TVC(Cbch) (2, 2 10

= DO

[ns]

-1 nuig,pzge+Us / 20
4226+ 0.0
p1 -36.02 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

T Ly /1e+U6 / 20
4224+ 0.0
pl -36.86 + 0.00

TP delay

P R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

= po

A" 11 B3ae+u4 | 20
4205+ 0.0
-37.63+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 2,7

pO
pl

- 11U UBbe+U6 / 20
4196+ 0.0
-36.79 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (22,

= pO

- 4zye+u6/20
4224+ 0.0
-35.61+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2, 2 15

T nui ssze+U6 / 20
4226+ 0.0
-35.92+ 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (2,3,0)

A~ 1 ozoe+U5 / 20
4205+ 0.0
p1 -36.68 + 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2,3,4)
= 1y, 9yse+U5 / 20
. pO 4206+ 0.0
pl -36.53+ 0.00
FC E
1 1
50 100
TP delay [ns]
TVC(cbch) (2.3,8)
~ 1 nuiLpule+u4 / 20
- pO 4226+ 0.0
pl -37.11+ 0.00

1
0 50 00

TP delay [ns]
TVC(cbch) (2,312)
~ L zope+u4 / 20
4000 [ po 4229+ 0.0
pl -34.86 + 0.00

3000

2000

1000

TP delay

L n n n n 1 n
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

o, PO

A~ 1 nuiLuzze+us / 20
4214+ 0.0
p1 -36.52+ 0.00

TP delay

TVC(c,b ch) (2 3,5

[ns]

-1 U 0b3e+u4 / 20
4197+ 0.0
-35.69 + 0.00

50 150
TP delay

TVC(c,b ch) (2 3,9

[ns]

T inuig 13/e+U6 / 20
4252+ 0.0
-37.4+ 0.0

1
50 00

TP delay

TVC(c,b Ch) (2, 3 13

[ns]

T inuis4/e+u4 / 20
4227+ 0.0
-34.84+ 0.00

TP delay

[ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

. po

A~ 1 150e+U5 / 20
4210+ 0.0
p1 -36.22+ 0.00

TP delay [ns]
TVC(cbch) (2 3,6)
-1 nug.2y4e+U5 / 20
-, pO 4216+ 0.0
[ pl -35.89::‘
- C = 27.86 [ps/ch .
1 1
50 100
TP delay [ns]

TVC(eb,oh)=(2, 3, 10

1000

0

= o

-1 g 11 e+ud [ 20
4268+ 0.0
pl -36.27 £ 0.00

TP delay

TVC(cbch) (2,3 14

= 0

[ns]

1z, 144e+06 / 20
4230+ 0.0
pl -34.93+ 0.00

TP delay

P R T
50 100

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

Ao,

o, po
pL

roe+U5/20
4210+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

e pO

pl

-1 nuz.9aye+u6 / 20
4201+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T, 4/5e+u5/20
4256+ 0.0
-35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

T nu, 18e+U5 / 20
4227+ 0.0
-35.97 + 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000 ]
2000~ ]
1000~ C ]
0, = 00
TP delay [ns]
TVC(cbch) (2,4,8)
~nuiL51/e+U6 / 20
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1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 9, 15

T nuiu4ve+ud [ 20
po 4249+ 0.0
-35.51+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10,0)
T A

u v114/20
PO 4159+ 0.0
pl -35.29+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 4

- 1Ly /4e+u4 / 20
po 4212+ 0.0
p1 -35.28:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 8

© iz, ro1e+u4 / 20
Po 4219+ 0.0
-36.4 + 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 12)

rua 8918720
po 4248+ 0.0
pl -36.55 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10, 1)
T A

S ryva ) 20
PO 4185+ 0.0
pl -35.15+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 5

nut 9yz1/20
Y 4205+ 0.0
pl -35.08 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 9

- i 11se+u4 [ 20
po 4240+ 0.0
pl -36.41+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 13)

Srnae o yes1/20
PO 4258+ 0.0
pl -36.09 + 0.00

PR
100

TP delay [ns]

4000
3000

2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000
2000

1000

TVC(c,b,ch)=(5, 10, 2)
T A

w”y125/20
po 4179+ 0.0
pl -34.93 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 6

-1 nuLuzoe+u4 / 20
LY 4227+ 0.0
pl -36.57+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 10

- nuiL3u3e+u4 / 20
po 4266+ 0.0
pl -37.31+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 14
T X

nar 3439/20
po 4250+ 0.0
pl -36.2+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10, 3)
T A

S ysu5/ 20
PO 4185+ 0.0
pl -35.28 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 7

-1 nui uy3e+u4 / 20
po 4233+ 0.0
p1 -35.72:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 11

-1 nai1uze+u4 / 20
po 4258+ 0.0
pl -35.89+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 15

Sona o Tr98720
PO 4230+ 0.0
pl -35.73+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 11, 0)

. x- o waz8120
e, PO 4165+ 0.0
pl -33.68 + 0.00

TP delay [ns]
TVC(c,b ch) (5, 11,4)
nu Y353 /20
- pO 4226+ 0.0
pl -35.53+ 0.00
- C -
1 1
50 100

TP delay [ns]

TVC(cbch) (5, 11 8

- 1 nui 387e+04 / 20
- PD 4224+ 0.0
pl -36.73+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,11, 12

X~ 131e+04 /20
= po 4238+ 0.0
pl -36.67 + 0.00

PR RS SR B
50 100

TP delay [ns]

TVC(cbch) (5.11,1)

3000

2000 -

1000 |-

“ru 5002120
4000 [, PO 4178+ 0.0
pl  -33.56+ 0.00

TP delay [ns]

TVC(cbch) (5 11,5

3000 -

2000

1000 [~

ur 9846 / 20
4000 frm DU 4217100
pl -36.01+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 11 9

4000 B

3000

2000

1000

~ 1 nuig 3use+ud / 20
DO 4243+ 0.0
pl -35.46 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,13

4000 e

3000

2000

1000

T uyle+ud / 20
pO 4236+ 0.0
pl -36.74 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (511,2)

U 1541 /20
F pO 4186+ 0.0
F Pl -33.33%0.00

TP delay [ns]

TVC(cbch) (5 11,6

- rnunL129e+04 / 20
. pO 4237+ 0.0
3 pl -36.92+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X~ 1 i 2u5e+04 / 20
- po 4249+ 0.0
3 Pl -35.06+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1 i yude+u4 / 20
- po 4227+ 0.0
F pl -35.45+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11, 3)

Ko 057720
F PO 4184 0.0
Pl -33.230.00

TP delay [ns]

TVC(cbch) (511,7

Snu 111e+04/ 20
- PO 4250+ 0.0
pL -36.53+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (511,11

- 0ze+ud [ 20
- pO 4251% 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (5.11,15)

fae 9813720
4224+ 0.0
-35.36+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 12,0)
T A

w7 Buus /20
PO 4182+ 0.0
pl -34.77 + 0.00

1
100

50
TP delay [ns]
TVC(c,b,ch)=(5, 12, 4)
T X7 1.00e+u4 / 20
[, po 4203+ 0.0
pl -36.93 ::‘
[ C=27.08 [ps/c ]
5(‘) 10‘0
TP delay [ns]
TVC(c,b,ch)=(5, 12,8

~rnuiLul/e+ud / 20
LY 4199+ 0.0
pl -36.21+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 12, 12)

rua - yu8 /20
po 4214+ 0.0
pl -36.09 + 0.00

PR
100

TP delay [ns]

4000 [,

3000

2000

1000

TVC(c,b,ch)=(5, 12, 1)
T A

ST w003/20
PO 4218+ 0.0
pl -35.76 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 12, 5

4000

3000

2000 -

1000 [~ C

-1 nuiLurge+u4 / 20
po 4206+ 0.0
p1 -36.41% 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 12,9

4000 [,

3000

2000

1000

T inuz131e+u4 / 20
po 4213+ 0.0
pl -36.57 + 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

TVC(c,b,ch)=( 5, 12, 13

T usse+u4 / 20
PO 4196+ 0.0
pl -35.58 + 0.00

PR
100

TP delay [ns]

4000 [’
3000
2000

1000

TVC(c,b,ch)=(5, 12, 2)
T A

" uz80 /20
po 4192+ 0.0
pl -34.05 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 12, 6

4000 e
3000~

2000 [~

wof C = 27.55 [ps/ch .

- 1L uoge+u4 / 20
LY 4209+ 0.0
pl -36.29:+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 12, 10

4000 F
3000 :
2000 :
1000

0

i 345e+04 / 20
po 4240+ 0.0
pl -36.06 + 0.00

1
100

TP delay [ns]

4000
3000
2000

1000

TVC(c,b,ch)=(5, 12, 14)

ra - yss4/20
po 4199+ 0.0
pl -35.56 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 12, 3)
T A

S wyad ] 20
PO 4195+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 12, 7

nur 9ybl/ 20
Y 4220+ 0.0
pl -36.67 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 5, 12, 11

-1 nuiL ybge+u4 / 20
po 4235+ 0.0
pl -35.51+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 5, 12, 15

X~ rnar a)lu:':/ZD
po 4204+ 0.0
p1 354+ 0.0

P B S S
50 100

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

T rnuizgzse+04 [ 20
o, pO 4291+ 0.0
pl -37.24+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.13,4

4000

- rnuLus1e+ud / 20
[Fouse PO 4229+ 0.0
pl -36.37 + 0.00

3000 - 7
2000~ 7
1000 [~ C 7
0 EY 00
TP delay [ns]
TVC(c,b,ch)=(5, 13, 8)
T X7 B351/20
4000 = po 4268+ 0.0
pL -34.19 + 0.00

3000

2000

1000

0

0

TP delay [ns]

TVC(cbch) (513,12

4000

3000

2000

1000

-1 nuiLyose+u4 / 20
- po 4234+ 0.0
pl -35.13+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,1)

AT rnun 2 33e+u4 [ 20
e po 4283+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

- nuiLuz/e+u4 [ 20
[Fome, pO 4217+ 0.0
pL -36.07 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 13

T a2z oe+ud [ 20
- po 4303+ 0.0
-35.85+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,13 13

- rnar 5)1./ 7120
- pO 4238+ 0.0
pl -35.3+ 0.0

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (5, 13 2)

T rnugnrse+ud [ 20
e, pO 4298+ 0.0
[ pl -37.56 + 0.00

3000

TP delay [ns]

TVC(c,b,ch)=(5, 13, 6

. 6)
x- e 95/3/20
po 4247+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

© i 1u3e+u4 / 20
= DO 4316+ 0.0
- pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (5.13,14)

1000

- p"

o v341/20
4243+ 0.0
pl -35.46 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,3)

AT 1z 1s1e+u4 [ 20
b ee po 4308+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(c, bch) (5,137

-1 nui 1bbe+u4 / 20
- pO 4259+ 0.0
pL -37.31% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 13 1

- nar 4)LJb4/20
pO 4318+ 0.0
pl -35.1% 0.0

TP delay [ns]

TVC(cbch) (513,15

~ 1 nuiLyble+ud / 20
- pO 4251+ 0.0
-35.52+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

1 uiz,uone+u4 | 20
- pO 4239+ 0.0
p1 365+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 14, 4

. 4)
x- 9600720
po 4244+ 0.0
p1 -36.21 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 14 8

- 1 nuiL yase+u4 / 20
= po 4205+ 0.0
p1 -35.39+ 0.00

1
50 00

TP delay [ns]

TVC(Cbch) (5, 14 12

T rnuiLzide+u4 / 20
- po 4285+ 0.0
pl -37.43+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

TVC(cbch) (5,14,1)

4000 p=,

3000

2000

1000

AT 1 nuiz.zove+u4 [ 20
. po 4233+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 14 5

3000 -

2000

1000 [~

w7 gsy1/20
4000 e, pO 4256+ 0.0
p1 -36.98 + 0.00

50 150
TP delay [ns]

TVC(c, bch) (5, 14 9

4000 [,

3000

2000

1000

1 nuig.anse+ud / 20
4236+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 14 13

3000

2000

1000

T inaiL1z9e+ud [ 20
4000 [ pO 4270+ 0.0
-36.26 + 0.00

P R T
50 100

TP delay [ns]

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (5,14,2)

TP delay [ns]

TVC(Cbch) (5, 14 6

= 1 nurLuze+u4 / 20
- pO 4249+ 0.0
[ 359+ 0.0

A~ 1 nuiz 145e+04 / 20
po 4243% 0.0
p1 -35.62:+ 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 14, 10

~nuiL415e+04 / 20
- pO 4237+ 0.0
i p1 -34.76 + 0.00

TP delay [ns]

TVC(CbCh) (5, 14 14

1000

= 1 i zo5e+u4 [ 20
- pD 4259+ 0.0
[ pl -36.14 + 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,3)

X1 2 Se+ud ] 20
==, po 4235+ 0.0
p1 -34.87+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 14 7

= 1 nuiLug4e+ud / 20
pe=s, po 4277+ 0.0
p1 -36.06 + 0.00

TP delay [ns]

TVC(e.beh)=(5, 14, 11

T naiaz/e+u4 /20
e pO 4236+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 15

Tonaiz/1e+u4 /20
- pO 4263+ 0.0
-35.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(cbch) (5.15,0)

~ 1 nuiLuv4e+ud [ 20
PO 4199 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 15, 4

b, ,15,4)
T PaEAL vu18/20
nen, PO 4195 0.0
pl -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

1 naiLzuze+u4 / 20
PD 4222+ 0.0
pl -36.28 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,15, 12

~1nuiz441e+04 / 20
4223+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,15,1)

A~ 1 nuiL190e+u4 / 20
Foue, po 4184+ 0.0
pL -36.37+ 0.00

TP delay [ns]

TVC(cbch) (5,155

u 9845 / 20
DU 4205+ 0.0
pl -35.71+ 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (5, 15 9

-1 nuz bage+u4 [ 20
- DO 4246+ 0.0
pl -37.27+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.15,13

-1z oyze+u4 [ 20
- PO 4224+ 0.0
-36.18+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (5.15,2)

Tz se+ud [ 20
= PO 4209+ 0.0
I pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.15,6

= 1 1L uobe+ud / 20
4217+ 0.0
-36.8+ 0.0

TP delay [ns]

TVC(cbch) (515,10

- /nar 2113/20
- pD 4244+ 0.0
r pl -36.6 0.0

TP delay [ns]

TVC(cbch) (5.15, 14

~ L syze+ud [ 20
= PD 4232+ 0.0
I pl -37.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,15,3)

A~ 1 nuiL4yie+u4 / 20
PO 42121 0.0
p1 -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

a 9816 / 20
PO 4213+ 0.0
pl -35.89+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 11)

948 / 20
pO 4254+ 0.0
pl -36.37 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.15,15

T g szbe+u4 [ 20
PO 4219+ 0.0
-35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,0,0

A7 nui1yse+ud / 20
o po 4149+ 0.0
pl -34.03+ 0.00

TP delay [ns]

TVC(cbch) (60,4

- rnuiLyrye+ud / 20
s, pO 4169+ 0.0
pl -33.98:+ 0.00

TP delay [ns]

TVC(cbch) (6 0,8

-1 ug s11e+04 / 20
e PD 4176+ 0.0
pl -35.97 + 0.00

FC ]
1 1
50 100
TP delay [ns]
TVC(cbch) (6,0,12)
1L 5o0e+u4 / 20
F. pO 4207+ 0.0
pl -35.29 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

X~ 1 L Ooae+ud | 20
Frase po 4164 + 0.0
pL -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 nugr4e+04 [ 20
4180+ 0.0
-35.49 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 0,9

~ 1 nuw, 740e+04 / 20
omen, DO 4195+ 0.0
pl -36.54 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (6,0,13

~ 1 nuiL pbbe+ud / 20
4202+ 0.0
-35.64+ 0.00

PR SRS S
50 100

TP delay

[ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (6,0,2)

1000

A7 1 nuizzoe+04 /20
Fuse po 4170+ 0.0
[ p1 -34.89 + 0.00

3000

TP delay [ns]
TVC(cbch) (6,0,6)
“rna 2 e+04 /20
. po 4196+ 0.0
: pl -35.74:_0.:‘
- C = 27.98 [ps/ch ]
S(I) 10‘0

TP delay [ns]

TVC(cbch) (6, 0 10

-1 nub,guve+u4 / 20
po 4214+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

P pD

T Lole+ud /20
4197+ 0.0
pl -35.13+ 0.00

TP delay

PR SR T
50 100

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A7 1 nuiL,2uae+u4 20
P s po 4184+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nui 8o /e+u4 / 20
E, pO 4203+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O

ERALEVX biée+l}4/20
4220+ 0.0
-35.69 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (6,0,15

-1 nui rbae+ud [ 20
4213+ 0.0
-35.93+ 0.00

P B S S
50 100

TP delay

[ns]
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1000
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A7 nui 1s0e+u4 / 20
4174+ 0.0
-36.91+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

-1z 3z4e+04 / 20
e, pO 4176+ 0.0
p1 -34.23 0.00

TP delay [ns]

TVC(cbch) (6 1,8)

- /nar” yyos /20
- pD 4198+ 0.0
p1 -34.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (61,12

~rnuiLzive+u4 / 20
- po 4197+ 0.0
pl -35.71+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

AT rnuanizse+ud [ 20
P ane po 4193+ 0.0
pl -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 nu blye+usd / 20
4161+ 0.0
-35.26 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nuig 1bbe+ud / 20
= po 4230+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

TVC(cbch) (61,13

T inai zg1e+ud / 20
4192+ 0.0
-35.53+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (6,1,2)

A7 1 nuiLuyse+u4 / 20
e, po 4209+ 0.0
L pl -37.89+ 0.00

TP delay [ns]

TVC(cbch) (61,6

- a2 g8 /e+u4 20
- pO 4196+ 0.0
3 pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (6, 1 10

T L zoe+u4 / 20
- pO 4243+ 0.0
L pl 3554+ 0,00

TP delay [ns]

TVC(cbch) (61,14

T zie+u4 /20
= pD 4190+ 0.0
L p1 -35.07 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

x- 1 L Qyae+ud | 20
po 4193+ 0.0
p1 -37.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

= 1 nuz 3uce+ud / 20
= po 4190+ 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(c,b ch) (6, l

RIS zme+u4/20
- po 4253+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (6,1,15

- T nai zsse+ud [ 20
pO 4198+ 0.0
p1 -35.66 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,2,0

AT 1nui rs1e+04 /20
- po 4199+ 0.0
pl -37.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (62,4

=i, r81e+04 / 20
4213+ 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]
TVC(cbch) (6 2,8

T rnuiL431e+04 / 20
po 4219+ 0.0
pl -35+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,212

T r3e+u4 / 20
pO 4212+ 0.0
pl -34.93+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

AT 1 nuzus/e+u4 [ 20
Fcee po 4209+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

-1 nun B33e+04 / 20
E pO 4219+ 0.0
pL -36.19+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 2,9

Tona3.31e+u4 /20
- po 4262+ 0.0
pl -37.03 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (6,213

-1 nui ozae+ud [ 20
4238+ 0.0
-36.61+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,2,2)

TP delay [ns]

TVC(cbch) (62,6

A7 1 nuz.usze+u4 /20
_l' po 4208+ 0.0
L pl -35.41+ 0.00

= 1 i bbobe+ud / 20
-, pO 4234+ 0.0
[ pl -35.78 0.00

TP delay [ns]

TVC(cbch) (6, 2 10

0

© 1L 194e+04 / 20
[, DO 4262+ 0.0
- pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (6,2 14

Ty e+u4 [ 20
-, pD 4224+ 0.0
L pl -35.36 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3

AT 1 nuiz, 1ose+ud [ 20
= po 4212+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nu 3zve+u4 / 20
pO 4248+ 0.0
pL -36.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 2

T 41::e+u4/20
- po 4275+ 0.0
-36.79 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (6,215

T nui psle+ud / 20
4243+ 0.0
-35.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,3,0

A1 1 sse+04 / 20
e po 4196+ 0.0
p1 -36.7 0.0

1
50 100

TP delay [ns]

TVC(cbch) (63,4

- i Z52e+04 [ 20
e, po 4229+ 0.0
pl -37.48 + 0.00

I C =26.68 [ps/c 7
5(') 10'0
TP delay [ns]
TVC(c,b ch) (6 3,8

- 1 nuiL juse+u4 / 20
po 4235+ 0.0
p1 -36.02+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (6,312

- 1 i 535e+04 / 20
po 4235+ 0.0
p1 -35.74+ 0.00

P B S S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (63,1

“rnu Lire+ud [ 20
e pO 4201 0.0
pl -36.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

= nun 17210404 / 20
Fucus po 4232+ 0.0
pl -36.45+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 3,9

-1 nuiz.pbze+ud [ 20
pO 4252+ 0.0
p1 -35.46 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

T nai s48e+ud / 20
4223+ 0.0
-35.08 + 0.00

P R T
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (6,3,2)

A~ 1L usse+u4 / 20
po 4213+ 0.0
p1 -36.75+ 0.00

TP delay [ns]
TVC(cbch) (6 3,6)
~ Ui 330e+04 / 20
- pO 4237+ 0.0
L pl -36.16::‘
I C =27.65[ps/ch 7
1 1
50 100

TP delay [ns]

TVC(eb,ch)=(6, 3, 10

= 1 nui zi1e+ud | 20
DO 4281+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 3 14

- 1w 14ve+ud [ 20
pD 4225+ 0.0
pl -36.17 + 0.00

M R I B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3)

A~ 1 nuiL.Oyye+ud / 20
po 4216+ 0.0
pL -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

-1 nui 1bbe+u4 / 20
pO 4247+ 0.0
p1 -35.75+ 0.00

TVC(c,b ch) (6, 3

TP delay [ns]

T 519e+u4/20
pO 4261+ 0.0
p1 -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

= i sobe+ud / 20
pO 4241 0.0
p1 -36.4 £ 0.0

PR IR T
50 100

TP delay [ns]



TVC(c,b,ch)=( 6, 4,0) TVC(c,b,chy=(6, 4, 1) TVC(c,b,ch)=(6, 4, 2) TVC(c,b,chy=(6, 4, 3)
AT ybu6 / 20 AT ysud / 20 A” 1L usase+ud 20 A 83U7 /20
4000 [, ' po 4198+ 0.0 4000 o, ' po 4177+ 00 4000 e, ' po 41912 0.0 4000 [, ' po 4206+ 0.0
Pl -36.04 0.00 pl_ -35.49+ 0.00 b PL__ -3615:000 pl 3574 0.00

- 3000

3000 -1 3000 -1 3000 -

2000 - 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(6, 4,4) TVC(c,b,ch)=(6, 4,5) TVC(c,b,ch)=(6, 4,6) TVC(c,b,ch)=(6, 4,7)
T X7 8989 / 20 T X rnuar 9181 /20 T X7 84U8 / 20 T X rna 9222120
4000 (e, po 4186+ 0.0 4000 e, po 4185+ 0.0 4000 e, po 4188+ 0.0 4000 e, po 4200+ 0.0
pl -34.00  0.00 pL -34.84 + 0.00 [ pl -35.32:+ 0.00 pL -34.89 + 0.00
3000 - -1 3000 |- -1 3000 :— —: 3000 -
2000 4 2000~ - 2000 — — 2000 1
wol C = 29.33 [ps/ch] . woof C . wof C = 28.31 [ps/ch . wol C = 28.66 [ps/ch .
0 EY 00 0 5 T of EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(6, 4, 8) TVC(c,b,ch)=(6, 4,9) TVC(c,b,ch)=(6, 4,10) TVC(c,b,ch)=(6, 4, 11)
T AT yss4 [ 20 T AL r1ze+u4 [ 20 T X7 1108 /20 T X 1142120
4000 po 4189+ 0.0 4000 po 4208+ 0.0 4000 po 4241+ 0.0 4000 po 4226+ 0.0
pl -35.58 + 0.00 pL -35.21+ 0.00 [ pl -34.86 + 0.00 pL -33.88  0.00

3000 -1 3000 - 3000 - 3000 - -1

2000 -1 2000 - 2000 -1 2000~

1000 -1 1000 -1 1000

- 1000 [~

I I [ I I
% 50 00 % 50 00

1 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(6, 4, 12) TVC(c,b,ch)=(6, 4, 13) TVC(c,b,ch)=(6, 4, 14) TVC(c,b,ch)=(6, 4, 15)
T AT yzy9 / 20 T A~ 1 nu usse+ud / 20 T Pl vyr4/20 T A~ 1w L uge+ud / 20
4000 [, po 4222+ 0.0 4000 fFe, po 4220+ 0.0 4000 fame, po 4228+ 0.0 4000 [, po 4225+ 0.0
pl -33.59 + 0.00 pL -34.68 + 0.00 L pl -33.71+ 0.00 pL -34.57  0.00
3000 4 3000 B 3000 — — 3000 4
2000 - 4 2000 - 2000 — — 2000 —
100 C = 29.77 [pS/Ch] - 1000 - 1000:— C =29.67 [pS/Ch] — 1000 4
0 g — 0 e of e 0 g

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,5,0

K™ nuiLuize+ud /20
— po 4203+ 0.0
pl -35.74 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (65,4

- 1nuig.443e+04 / 20
pO 4197+ 0.0
pl -34.14 0.00

TP delay [ns]

TVC(cbch) (6 5,8

©rnuiL510e+U4 / 20
- PD 4217+ 0.0
pl -35.78 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (65,12

© i sbae+u4 / 20
- pO 4226+ 0.0
pl -35.63 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51)

AT rnan vrol/20
PO 4214+ 0.0
pl -35.65 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 U bave+u4 / 20
4194+ 0.0
-33.97 + 0.00

TP delay [ns]

TVC(c,b ch) (6 59

-1 nuiz. 7bbe+ud / 20
DO 4214+ 0.0
pl -35.25+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (6,5,13

T naiazve+ud [ 20
4248+ 0.0
-36.08 + 0.00

PR SRS S
50 100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (6,5,2

X~ 1w 1ose+U4 / 20
po 4225+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (6,56

1000

- g 311e+04 / 20
4209+ 0.0
-34.1+ 0.0

TP delay [ns]

TVC(cbch) (6, 5 10

© 1L gbae+u4 [ 20
- DO 4242+ 0.0
I pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,5,14

- 1L buse+u4 / 20
4221+ 0.0
-35.11+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3)

AT rnan yo/8/20
= PO 4211 0.0
p1 -34.81+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

T 137e+04 / 20
- PO 4211% 0.0
Pl 35043000

TP delay [ns]

TVC(c,b ch) (6, 5

T rnug bb4e+l}4/20
- pO 4248+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T nui sbse+ud / 20
4235+ 0.0
-36.04+ 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (6,6,0)

4000

3000

2000

1000

X w93 /20
po 4198+ 0.0
pl  -354%0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (6 6,4

4000

3000

2000

1000

1 nar )tm/:) 120
e p0 4182+ 0.0
pl -35+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6 6,8

4000

3000

2000

1000

0

T Lo/e+u4 /20
po 4218+ 0.0
pl -35.62+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (6,6,12

4000

3000

2000

1000

T aze+ud /20
= po 4234+ 0.0
pl -35.76 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

A nan 1810/20
P po 4207+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nui Uzze+u4 / 20
E pO 4207+ 0.0
pL -36.28+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

T nugp/ze+ud [ 20
po 4249+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(C, bch) (6,6,13

T inai1zze+ud [ 20
= 4227+ 0.0
-35.61+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (6,6,2)

e, DO

TP delay [ns]

TVC(cbch) (66,6

S 7 wuza 20
4202+ 0.0
p1 -35.44 £ 0.00

S © ysaa] 20
I pO 4195+ 0.0
[ pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1 nuiLpoye+u4 / 20
po 4260+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (6,614

T zie+u4 /20
-, pD 4224+ 0.0
L pl -35.45+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3

X~/ nuai )uzu8/20
- pO 4215+ 0.0
pl__ -354%00

TP delay [ns]

TVC(c,b ch) (6 6,7

=1 nui UzZoe+u4 / 20
pO 4207+ 0.0
pL -35.88+ 0.00

TVC(c,b ch) (6, 6

50 1(;0
TP delay [ns]

T ba/e+u4/20
pO 4256+ 0.0
p1 -35.14+ 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

T onaiL1g/e+ud [ 20
4238+ 0.0
-36.13+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,7,0)

A7 1 nuiguse+ud / 20
po 4187+ 0.0
pl -35.43+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (6 7,4)
=1 nuiL494e+04 / 20
= po 4199+ 0.0
pl -34,71::‘
- C N
1 1
50 100
TP delay [ns]
TVC(c,b ch) ( 6 7,8

1 nuiLpobe+u4 / 20
po 4208+ 0.0
pl -35.93+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,7,12

© i szse+u4 / 20
pO 4254+ 0.0
pl -36.38+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

A” 1 nuLuuye+ud [ 20
- po 4210+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

=1 i 3bYe+u4 / 20
E pO 4211+ 0.0
-35.29+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 7,9

-1 nug.puve+ud / 20
4227+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (67,13

T nuigive+ud [ 20
= pO 4248+ 0.0
pl -37.15+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (6,7,2)

X llu11u//e+u4/20
_l'_ po 4216+ 0.0
- pl -36.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (67,6

1000

1 nuiL454e+04 / 20
- pO 4218+ 0.0
- pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

Sinu 5156/ 20
- pO 4251 0.0
[ p1 -37.07 + 0.00

TP delay [ns]

TVC(cbch) (6,7,14

1000

~1nuiL434e+04 / 20
. pD 4252+ 0.0
L pl -36.47 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3)

X L OLierud ] 20
po 4216+ 0.0
p1 -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

-1 nui4/8e+04 / 20
- pO 4218+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 7

T u/ue+u4/20
e pO 4261+ 0.0
p1 -37.46 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (67,15

T inaizae+u4 /20
= pO 4262+ 0.0
p1 -36.7+ 0.0

P B S S
50 100

TP delay [ns]



TVC(c,b,ch)=(6, 8, 0) TVC(c,b,ch)=(6, 8, 1) TVC(c,b,ch)=(6, 8, 2) TVC(c,b,ch)=(6, 8, 3)
. X~ Lale+ud ] 20 T X~ 39 /e+Ud 20 T X~ 1L 4o (e+04 20 T A~ a2 rve+ud | 20
4000E, po 4182+ 0.0 a00E, po 4180+ 0.0 4000k, po 4204+ 0.0 4000 po 4207+ 0.0
Pl -34.88+0.00 Pl -34.74%0.00 3 pl -35.01+ 0.00 pl_ -35.72% 0.00

3000

E 3000 - 3000 - 3000 [ E

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000 [~

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(6, 8, 4) TVC(c,b,ch)=( 6, 8, 5) TVC(c,b,ch)=(6, 8, 6 ) TVC(c,b,ch)=( 6, 8, 7)
T X7 bbz4 / 20 T X7 1L zube+ud [ 20 T X7 1651120 T X~ 1 i bobe+ud [ 20
4000 [y po 4268+ 0.0 4000, po 42512 0.0 4000 fem, po 4263+ 0.0 4000 fe=, po 4282+ 0.0
pL -38.86+ 0.00 pL -37.67+ 0.00 L pl -38.16 + 0.00 pL -37.91+ 0.00

- 3000 - 3000 |~ - 3000 - -

3000

2000 -1 2000 - 2000~ - 2000 -

1 woof € = 26.21 [ps/c ] woof C

1000 - 1000 -
0 EY 00 0 5 T of EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(6, 8, 8) TVC(c,b,ch)=(6, 8,9) TVC(c,b,ch)=(6, 8, 10) TVC(c,b,ch)=(6, 8, 11)
T AT 9yru3/20 T AL 3r8e+u4 [ 20 T X~ 1 158e+04 [ 20 T X vr2/20
4000 e po 4212+ 0.0 4000 [ po 4221% 00 4000 e, po 4253+ 0.0 4000 po 4260+ 0.0
Pl -3505% 0.00 Pl 34,57+ 0.00 [ PL_ 3526+ 0.00 Pl 3502+ 0.00

3000 . 3000 - 3000 -1 3000 .

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000

- 1000

I I [ I I
% 50 00 % 50 00

1 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(6, 8, 12) TVC(c,b,ch)=(6, 8, 13) TVC(c,b,ch)=(6, 8, 14) TVC(c,b,ch)=(6, 8, 15)
T Ao BU2/ 20 T X rnuar “s1sd /20 T X inar var7/20 T AT 1o yss4 / 20
4000 e po 42225 0.0 4000 [ PO 423400 4000 g, PO 4222:00 4000 po 42315 0.0
pl -35.81 0.00 pl -36.1+ 0.0 I pl -34.7+ 0.0 -35.14 + 0.00
3000 - 3000 - 3000 3 3000 E
2000 1 2000 - 2000 — — 2000 1
1000 — 1000 - 1000:— C =28.82 [pS/Ch — 1000 —
0 g — 0 e of e 0 g

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,9,0

X~ 1 i 440e+04 / 20
o po 4213+ 0.0
p1 -36.62+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (69,4

- 14 /4e+04 / 20
4237+ 0.0
-35.2+ 0.0

50 10'0
TP delay [ns]
TVC(cbch) (6 9,8

1 nuiL Z1oe+u4 / 20
po 4220+ 0.0
p1 -35.08:+ 0.00

1
50 00

TP delay [ns]
TVC(c,b ch) (6, 9 12)
- 803 / 20
= po 42335‘
pl -34.11+ 0.00
F C =29.32 [ps/ch] ]
5(') 10'0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

A 1L 3rae+ud | 20
k. po 4219+ 0.0
pL -35.84+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

- nuiL442e+04 20
Pucse po 4250+ 0.0
pl -35.84 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 9,9

-1z, 7sae+U | 20
- pO 4233+ 0.0
pL -35.91+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6,9,13

x- o yo/6/20
e, po 4234+ 0.0
pl -35.29+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,2)

TP delay [ns]

TVC(cbch) (69,6

A~ 1w nize+u4 /20
. po 4237+ 0.0
[ p1 -37.66 + 0.00

- 14 /pe+04 / 20
- pO 4259+ 0.0
[ pl -35.76 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 9, 10

1000

0

© 1L 345e+04 / 20
- pO 4260+ 0.0
[ p1 -36.17 + 0.00

TP delay [ns]

TVC(cbch) (6,9,14

1000

= 1 nuiL ggLe+ud [ 20
. pD 4248+ 0.0
L pl -36.62 + 0.00

M R I B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

A1 nuig syve+ud [ 20
beee po 4241 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

=1 nui 4y8e+u4 / 20
- pO 4275+ 0.0
p1 -36.78:+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, 9

T 51=e+u4/20
- pO 4271 0.0
-36.26 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 9 15

- i 191e+ud [ 20
- pO 4258+ 0.0
-36.59 + 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (6, 10 0)

~ 1L, sooe+u4 / 20
4204+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.10,4

= 1 nuiL.a99e+04 / 20
o, pO 4214+ 0.0
pl -36.81+ 0.00

50 10‘0
TP delay [ns]

TVC(c,b,ch)=(6, 10, 8

b, , 10, 8)
T X7 v8/8/20
= PO 4218+ 0.0
pl -36.98 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,10, 12

~ L grve+ud / 20
4227+ 0.0
-35.41+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (6,10,1)

AT 1 nuLsyse+ud [ 20
- po 4207+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(c, bch) (6,105

-1 nui 370e+04 / 20
., pO 4218+ 0.0
Pl -36.28+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 10

Tonanz./re+u4 120
= po 4222+ 0.0
pl -35.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (610,13

T nuiasbe+ud [ 20
4228+ 0.0
-35.44+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

AT 1nuis4/e+04 /20
_l' po 4218+ 0.0
L pl -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

1000

- nuiLzize+u4 [ 20
- pO 4226+ 0.0
[ pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1 Bob4 / 20
4248+ 0.0
-37.01% 0.00

TP delay [ns]

TVC(cbch) (6.10,14

- 1L 5o0e+04 / 20
I pD 4230+ 0.0
L pl -35.43+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,10,3)

po

AT rnuiLzize+ud [ 20
4213+ 0.0
pl -37.07 + 0.00

TP delay

TVC(c, bch) (6,10, 7

o pO

pl

[ns]

-1 i 38be+u4 / 20
4230+ 0.0
-36.42+ 0.00

50 1(;0
TP delay

TVC(cbch) (6, 10 1

e pO

[ns]

)

640 / 20
4261% 0.0
-37.15+ 0.00

1
50 100

TP delay

TVC(cbch) (6,10,15

[ns]

T nui n3ve+ud / 20
4237+ 0.0
-35.67 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,11,0)

K™ nun g o4e+ud [ 20
4223+ 0.0
-35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,11,4

wr 5645 / 20
4181+ 0.0
-36.21+ 0.00

50 10‘0
TP delay [ns]

TVC(c,b, ch) (6,118

“ a3 use+ud / 20
- pO 4229+ 0.0
pl -35.91+ 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (6,11, 12

X~ 1 usbe+u4 / 20
PO 4251+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,1)

A1 Ui 4gbe+ud [ 20
[oam, PO 4221 0.0
pl -34.53+ 0.00

TP delay [ns]

TVC(cbch) (6,115

u 5458/ 20
4197+ 0.0
-37.22+ 0.00

TP delay [ns]

TVC(c,b ch) (6,11,9

T inuz1gle+ud / 20
4217+ 0.0
-34.51+ 0.00

TP delay [ns]

TVC(cbch) (6,11,13)

fua o 9539/20
pO 4250+ 0.0
pl -34.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (6,11,2)

A7 1 nui445e+04 /20
[Fonee, PO 4238+ 0.0
L pl -35.85 0.00

3000

TP delay [ns]

TVC(cbch) (6,116

u 5518/ 20
= pO 4204+ 0.0
r pl -36.94 + 0.00

TP delay [ns]

TVC(c,b, ch) (6,11, 10

X~ 1 133e+04 / 20
- po 4249+ 0.0
3 Pl -3543% 0.00

TP delay [ns]

TVC(cbch) (6,11, 14

1000

X~ 1L uige+u4 / 20
™ po 4266+ 0.0
L pl -35.76 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,3)

A~ 1 nuiLbuze+u4 / 20
™ po 4245+ 0.0
p1 -36.78 + 0.00

TP delay [ns]

TVC(cbch) (6,11,7

ur 6/16/20
= PO 4212+ 0.0
pl -35.96+ 0.00

50 1(;0
TP delay [ns]

TVC(e.b.eh)=(6, 11, 11)

1 nun 426 1 20
- p0 4252+ 0.0
Pl -35.65: 0.00

TP delay [ns]

TVC(cbch) (611,15

-1 nuiLubae+ud / 20
4265+ 0.0
-35.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,12,0)

© L 1se+u4 / 20
4180+ 0.0
-34.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.12,4

= 1 i 388e+04 / 20
pO 42321 0.0
pl -37.71+ 0.00

50 10‘0
TP delay [ns]

TVC(c,b,ch)=(6, 12,8

b, ,12,8)
T X7 Bobd / 20
- Po 4197+ 0.0
pl -35.16 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.12,12)

ra o Cyzo4 /20
PO 4226+ 0.0
pl -34.78 + 0.00

PR RS SR B
50 100

TP delay [ns]

TVC(cbch) (6,12,1)

4000 [, 00

A” 1 nuiLuboe+ud / 20
4191+ 0.0
pl -33.65+ 0.00

3000

2000 -

w00~ C = 29.72 [ps/ch]

TP delay

TVC(cbch) (6,125

4000 pO

pl

[ns]

“nun1.4ze+04 /20
4226+ 0.0
-36.93 % 0.00

3000 |-

2000

1000 [~ C

50 1(;0
TP delay

TVC(c,b ch) (6,12,9

4000

[ns]

~ 1 nuz 318e+ud / 20
4223+ 0.0
-35.05+ 0.00

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (612,13

4000 [, pO

p1

[ns]

T inaiyize+ud / 20
4222+ 0.0
-34.9+ 0.0

3000

2000

1000

TP delay

PR SRS S
50 100

[ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (6,12,2)

X~ 1L uive+u4 / 20
I~ po 4189+ 0.0
3 pl -33.69:+ 0.00

TP delay [ns]

TVC(cbch) (6.12,6

-1 31ze+04 / 20
F pO 4219+ 0.0
I pl -36.91 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

1 nuiLu40e+u4 / 20
- DO 4240+ 0.0
3 Pl -34.87%0.00

TP delay [ns]

TVC(cbch) (6.12,14)

1000

ruae - ysu6 /20
- PD 4232+ 0.0
F pl -34.36 + 0.00

TP delay [ns]

TVC(cbch) (6,12,3)

AT 1 nuiLiise+ud /20
4215+ 0.0
p1 -35.61+ 0.00

4000

po

3000

2000

1000

TP delay

TVC(c, bch) (6,127

4000 @ pO

[ns]

- 1L 276e+04 / 20
4257+ 0.0
pl -38.29 + 0.00

3000

2000

1000 [~ C

50 1(;0
TP delay

TVC(cbch) (6,12, 11

<1 nuiL ybbe+ud / 20
4262+ 0.0
pl -36.08 + 0.00

4000 [,

pO

[ns]

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (6,12,15

4000 [,

[ns]

-1 naiyuse+ud / 20
4209+ 0.0
-34.37+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 &

3000

2000

1000

TVC(CbCh) (6, 13 0)

T p4ze+ud /20
- pO 4198+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(cbch) (6,134

- 1L 11be+u4 / 20
pO 4160+ 0.0
pl -35.56+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 13 8

T il 1e1e+u4 / 20
"oase PD 4197+ 0.0
p1 -34.84+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.13,12)

o Yoa4 /20
pO 4208+ 0.0
pl -35.19+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,13,1)

AT 1 nuiLsb/e+ud [ 20
- po 4208+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(c, bch) (6,135

-1 i u34e+04 / 20
4163+ 0.0
-35.99 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 13

-1 nuiz.yzoe+ud [ 20
4231% 0.0
-35.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (613,13

~ 1 nuiL 1sbe+ud / 20
E. pO 4181+ 0.0
p1 34.3+0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

Y ous8/20
4000 e DO 4214+ 0.0
[ PL 3402+ 0.00
3000 ]
2000~ 7
woor- C = 29.40 [ps/ch] 7
% EY 00

4000

3000
2000

1000

TVC(CbCh) (6,13,2)

TP delay [ns]

TVC(cbch) (6.13,6

X rnu Csor1/20
o po 4207+ 0.0
[ pl  -36.4+0.0

3000

- nun1z8e+04 / 20
4167+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 13, 10)

TP delay [ns]

TVC(cbch) (6,13, 14

~ i ss4e+04 / 20
F. pD 4199+ 0.0
L p1 -34.88+ 0.00

PR SR T
50 100

TP delay [ns]

TVC(cbch) (6,13,3)

4000

3000

2000

1000

x° 1 L ubae+U4 | 20
e po 4211+ 0.0
p1 -36.41% 0.00

TP delay [ns]

TVC(c, bch) (6,137

4000 B

3000

2000 -

1000 [~

-1 nuiuaye+u4 / 20
e, pO 4192+ 0.0
pL -35.73+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, 13 11)

4000

3000

2000

1000

ut 1017120
4233+ 0.0
-36.23+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.13,15

4000 &

3000

2000

1000

Tinai1b/e+ud /20
4199+ 0.0
-35.32+ 0.00

TP delay [ns]



TVC(c,b,ch)=( 6, 14,0) TVC(c,b,ch)=(6, 14, 1) TVC(c,b,ch)=(6, 14, 2) TVC(c,b,ch)=(6, 14, 3)
T LAl vyo7/20 T A~ 1 nuiLuLbe+u4 / 20 T X~ 1w uuge+u4 [ 20 T A~ 1 nuiLusze+u4 / 20
4000 fFee,, po 4198+ 0.0 4000 po 4198+ 0.0 4000 po 4202+ 0.0 4000 po 4221+ 0.0
pl -35.88 + 0.00 pL -35.56 & 0.00 [ pl 3583+ 000 pL -35.54 + 0.00

- 3000

3000 -1 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 6, 14, 4) TVC(c,b,ch)=( 6, 14, 5) TVC(c,b,ch)=( 6, 14, 6) TVC(c,b,ch)=( 6, 14, 7)
T X7 8443/ 20 T X rnuar 9382 /20 T X7 Y1ul/20 T X rna 9219 /20
4000 e, po 4201+ 0.0 4000 e, po 4206+ 0.0 4000 po 4219+ 0.0 4000 o, po 4237+ 0.0
pl -35.39+ 0.00 pl -36.55 + 0.00 [ pl -36.72+ 0.00 pl -36.96+ 0.00
3000 [~ E 3000 [ - 3000 3 3000 [ E
2000~ B 2000 [ B 2000 — — 2000 [ B
1000 C - 1000 C - moo:—c =27.23 [pS/Ch — 1000 C -
0 EY 00 0 5 T of EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 6, 14, 8) TVC(c,b,ch)=( 6, 14, 9) TVC(c,b,ch)=( 6, 14, 10) TVC(c,b,ch)=( 6, 14, 11)
T X~ 1 1uiL 4pbe+04 / 20 = T X7 1 nuig.404e+04 / 20 — T X1 31e+u4 / 20 - T A7 nunLuBle+ud [ 20
4000 e LY 4180+ 0.0 4000 po 4202+ 0.0 4000 po 4210+ 0.0 4000 p0 4216+ 0.0
pl -33.91:+ 0.00 pL -34.13+ 0.00 [ pl -34.09 + 0.00 pL -34.83+ 0.00
3000 4 3000 B 3000 — — 3000 4
2000 E 2000 - 2000 ] 2000 —
1000 = 1000 - 1000:— C =29.33 [pS/C h] — 1000 =
% EY 0 0 e T DL- EY 00 0 e T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(6, 14, 12) TVC(c,b,ch)=( 6, 14, 13) TVC(c,b,ch)=( 6, 14, 14) TVC(c,b,ch)=( 6, 14, 15)
T X- 1o/ re+ud /20 - T AT 1 Y509 /20 — T X~ 1L ub4e+ud [ 20 = T AT 1 vzu86 / 20
4000 PO 4208+ 0.0 000 po 4192+ 0.0 4000 - po 4213+ 0.0 4000 po 4202+ 0.0
pl -35.26 + 0.00 pl -35.92:+ 0.00 [ pl -36.39 £ 0.00 pl -35.69+ 0.00

3000 -1 3000 - 3000 -1 3000

2000 -1 2000 - 2000 - 2000

1000 -1 1000 - 1000 -1 1000

PR RS SR B PR SRS S PR SR T P B S S
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b,ch)=(6, 15,0) TVC(c,b,ch)=(6, 15,1) TVC(c,b,ch)=(6, 15, 2) TVC(c,b,ch)=(6, 15, 3)
A” 1L uyse+ud / 20 A~ 1L yule+ud / 20 AT yv835/20 A yu86 / 20
4000, ' po 414700 A000F, ' po 4149:£ 0.0 4000, ' po 4155 0.0 A000F ' po 4173+ 0.0
Pl -36.07: 0.00 pl_ -35.06+ 0.00 [ Pl -35.25%0.00 Pl -36.04% 0.00

3000

1 3000 -1 3000 -1 3000 1

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 -1 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 6, 15, 4) TVC(c,b,ch)=( 6, 15, 5) TVC(c,b,ch)=( 6, 15, 6) TVC(c,b,ch)=( 6, 15, 7)
T X7 Ybb7 / 20 T X7 1 nuiLuuge+ud / 20 T X7 Yb/7 /20 T X rna 8487 / 20
40008, LY 4169+ 0.0 R po 4182+ 0.0 4000k, po 4193+ 0.0 4000 po 4197+ 0.0
pl -34.48 + 0.00 pL -34.03+ 0.00 [ pl :34.94 0.00 pL -33.84 + 0.00
3000~ 1 3000 B 3000 — — 3000 4
2000 4 2000 - 2000 — — 2000 —
woof C . 1000 . wol C = 28.62 [ps/ch . wol C = 29.55 [ps/ch] .
0 EY 00 0 5 T of EY 0 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 6, 15, 8 ) TVC(c,b,ch)=( 6, 15, 9) TVC(c,b,ch)=( 6, 15, 10 ) TVC(c,b,ch)=( 6, 15, 11)
T AT 440 / 20 T X 517 /20 T X rnar  rurd /20 T X 10r0/20
4000, po 4210+ 0.0 4000 po 4227400 4000 [, po 4251+ 0.0 4000 o, PO 42412 00
pl -33.99+ 0.00 pL -34.54+ 0.00 [ pl -34.7+ 0.0 pL -34.08+ 0.00
3000 - - 3000 - 3000 — — 3000 -
2000 = - 2000 - 2000 — — 2000 - -
wob C = 29.42 [ps/ch] . 1000 ] wol C = 28.82 [ps/ch] ] wol C = 29.35 [ps/ch] .
% EY 0 0 e T DL- EY 00 0 e T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 6, 15, 12) TVC(c,b,ch)=( 6, 15, 13) TVC(c,b,ch)=( 6, 15, 14) TVC(c,b,ch)=( 6, 15, 15)
T A~ 1w 1ize+ud / 20 T A~ 1nua zize+ud | 20 T X~ 1L L /4e+04 [ 20 T A~ 1 zsye+ud | 20
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